S JdENNIArelH

TIMONERIA EXTENSIBLE/
EXTENSIBLE DRIVING BAR/
BARRE DE COMMANDE EXTENSIBLE/
AUSZIEHBARES AUSLOSEGESTANGE

T25-UD/T25v2

INSTRUCCIONES DE USO Y MANUTENCION/
INSTRUCTIONS FOR USE AND MAINTENANCE/
INSTRUCTIONS D'USAGE ET ENTRETIEN/
GEBRAUCHS- UND WARTUNGSANLEITUNG/



INSTRUCTIONS: T25UD/T25v2 Cod: DYN 37.1.15

Date: 10/10/2019 Check: 15

dE1AT7eCH

. PRODUCED BY / J.A. Torrubia/ O.
REVISION 15 DATE 09/05/2019 APPROVED BY Lacamara
EFFECTIVE DATE
SECTION DESCRIPTION OF CHANGE
3.5 Nylon washer DIN 9021 09/05/2019
3.5.1 Nylon washer DIN 9021 09/05/2019
< PRODUCED BY /
REVISION 14 DATE 13/11/2017 APPROVED BY J. Suelves/ J. Marco
EFFECTIVE DATE
SECTION DESCRIPTION OF CHANGE
3 Drawing codes updated Not applicable
3.2 Paragraph contents modified Not applicable
38 New point added with information on ranges of the T25UD/T25v2 Not applicable
) driving bar over 3000 mm
3.9 Paragraph contents modified Not applicable
4 A second cable grip pivot is added to reduce the triggering force 04/07/2018
New point added with information on ranges of the T25UD XL/T25v2 Not applicable
4.1 L
XL driving bar over 2100 mm
4.2 Paragraph contents modified Not applicable
5 Explanation added on the previous one-way version Not applicable
REVISION 13 DATE 11/05/2017 PRODUCED BY / APPROVED P. Hernandez/ J.
BY Marco
EFFECTIVE DATE
SECTION DESCRIPTION OF CHANGE
4 Drawings DYN 37.C12, DYN 37/4.C007 are included Not applicable
3.8 Increase of distance between guides to 2600 01/05/2017
REVISION 12 DATE 13/02/2015 PRODUCED BY / APPROVED J. Mgrco/
BY O.Lacamara
EFFECTIVE DATE
SECTION DESCRIPTION OF CHANGE
3.9 The “Driving Bar T-25 v2” section is added 01/01/2015
REVISION 11 DATE 03/04/2014 PRODUCED BY / APPROVED J. Marco/ 0.
BY Lacamara
EFFECTIVE DATE
SECTION DESCRIPTION OF CHANGE
3.5.1 The “Multi-position attachment” section is added 03/04/2014
3.8 The T25 driving bar called T25UD XL/ T25 XL section is added 03/04/2014
The Multi-position attachment drawings and the T25UD XL / T25 XL .
4 e ) Not applicable
driving bar drawings are added.
REVISION 10 DATE 27/03/2014 PRODUCED BY / APPROVED P.Hernzfmdez/ 0.
BY Lacamara
EFFECTIVE DATE
SECTION DESCRIPTION OF CHANGE
- Drawings of Assembly / Identification of the components are included Not applicable
REVISION 09 DATE 27/01/2014 Fiiolp e Sle BB\\((/ SRS O. Lacamara
EFFECTIVE DATE
SECTION DESCRIPTION OF CHANGE
39 The section is completed adding more information about the Not applicable
assembly




INSTRUCTIONS: T25UD/T25v2 Cod: DYN 37.1.15 \.% UH”E TEEH

Date: 10/10/2019 Check: 15

INSTRUCTIONS FOR USE AND MAINTENANCE

1 INTRODUCTION . tisiistiisreisresstesssesssesssesssesssesssesssesssesssesssesssesssesssesssesssesssesssesssesssesssesssesssesssesssesssesssesssesssesssesssesssesssens 3
2 INSTRUCTIONS FOR USE AND MAINTENANCE ....cctirrtirtintenttiitintcnncssnesssssssssssssssssssessssessssessssssssssssssnes 3
3 ASSEMBLY MANUAL OF THE T25UD/T25V2 DRIVING BAR ...ttt saes 3
3.1 RECEPTION OF THE DRIVING BAR: ..ottt ettt ettt 4
3.2  FIT THE TENSING UNIT - OPTIONAL ....orteiiiteteinreeeesreeeits ettt ettt ettt 5
3.3 ASSEMBLY OF THE LINKAGE ARMS AND SHAFT ..ottt ettt 6
3.4  INSTALLATION OF THE DRIVING BAR AXLE:......ci ottt ettt 8
3.5 INSTALLATION OF THE OVERSPEED GOVERNOR ANCHOR:......cccoiiiriirieieteeenree st 9
3.5.1 MULTI-POSITION ATTACHMENT ..ottt sttt sttt snesaesresre s 9

3.6  ADDITIONAL INFORMATION: TENSING UNIT ASSEMBLY PER PARTS: ...cciiiiiierieeeeeeeeene e 10
3.7 SAFETY CONTACT OPTION ..ottt sttt sttt sa e sr e sb e st sae s b b saeebe et ane s e saesnesee e 11
3.8 SPACE BETWEEN GUIDE RAILS OF OVER 3000 MM....c.coitrtetiinretrrireeninneesrisseessesseessessesessessesessesseesssssenes 13
3.9 ACTIVATION OF THE T-25UD / T25V2 DRIVING BAR .....oocirireiineireeinetenreees ettt 13

4 T25UD XL / T25V2 XL DRIVING BAR..cotiririitititcniniiiiicnieneirssesestsnsssessssstsssessssstsssssssssesssssssssessessssssssssssesns 14
4.1 SPACE BETWEEN GUIDE RAILS OF OVER 2100 mm FOR T25UD/T25v2 XL DRIVING BAR .........cccc....... 14
4.2  ACTIVATION OF THE T-25UD / T25V2 XL DRIVING BAR.....c.ooiiiiiiee ettt 15

5 PREVIOUS VERSIONS: T-25 DRIVING BAR .coostiirtintiiiiittiitineinstsnsessssssssessssssssessssessssesssssssssssssssesssseses 15
6 TANDEM CONFIGURATION.ciitctiirterittiittiiitistintesstesssesssssssssnsssssessssessssesssssssssssssssessssessssesessssssassssssessnsesensesenns 16
7 ASSEMBLY’'S DRAWINGS ...coootiitiiiteniieinitinieestesisessssesssesssssssss e ssssessssesssssssssssssssessssesessesessssssssessssessnsessssesenss 16




INSTRUCTIONS: T25UD/T25v2 Cod: DYN 37.1.15 {\‘ DH”E TEEH

Date: 10/10/2019 Check: 15

1 INTRODUCTION

The Dynatech extensible driving bars are the ideal complement for all lift frame manufacturers who use our
progressive and instantaneous safety gear systems. Compatibility, simplicity and multi-functionality were the
primary criteria when designing these elements. The result is a notable cost savings for our customers.

Determining the position of the safety gears on the frame is only task that has to be performed. After that, any
component supplied by Dynatech will be installed standard. The frame manufacturer does not have to make any
modification — not even for the distance between guides — because the driving bars are extensible.

Therefore, the manufacturing cost of the frame is reduced considerably, since it is also produced standard, thereby
providing the following advantages.

Decreased number of working hours by the personnel in charge of product quality control.

Decreased financial costs by not having to maintain a considerable stock of different elements for frame
manufacturing.

Reduced product delivery time to the customer.
Overall standardisation in all aspects: Manufacturing tool set-ups, packaging, labelling, documentary order, etc....

It is very important to take all these aspects into account in view of business profitability and the competitiveness of
your firm.

2 INSTRUCTIONS FOR USE AND MAINTENANCE

The components are very simple, and they require no special maintenance. The most important points to take into
account are the following:

i. The assembly instructions of each driving bar must be followed.

ii. The screws for the adjustment and fixing of the driving bars to the to the frame and of the driving bar components
themselves have to be tightened according to the corresponding torque in order to guarantee that none of them
come loose and cause the linkage to work incorrectly.

iii. The location of the linkage on the frame must be appropriate so that the safety gear works correctly and to
prevent interference between the safety gear and the switchgear inside the shaft or between the guides themselves.

iv. Impacts and dents must be avoided.

3 ASSEMBLY MANUAL OF THE T25UD/T25v2 DRIVING BAR

When you receive your T25UD/T25v2 DRIVING BAR, unpack all the components and compare them with the
attached components list (DYN 37.C05, DYN 37.C10, DYN 37.C12, DYN 37/4.C006, DYN 37/4.C007).) to be sure
that you have received all of them.



INSTRUCTIONS: T25UD/T25v2 Cod: DYN 37.1.15 - DH”E I_EEH

Date: 10/10/2019 Check: 15

3.1 RECEPTION OF
THE DRIVING BAR:

The T25UD and the T25v2
driving bar are related to the
ASG family of safety gears from
Dynatech. The driving bar is
supplied from the factory pre-
assembled (1) with the safety
gear, and subsequent
installation on the frame
requires no modification other
than what is necessary for
installing the safety gears.

Figure 1. ASG safety gear assembly and the T-25UD driving bar supplied by
Dynatech

The driving bar is fixed onto the frame via four M12 screws. The distances between the holes may be obtained
from assembly drawings DYN 37.C01 and DYN 37.C02

Note: Fit the safety gear and driving bar unit in the position indicated by the arrow marked on the bracket.

The linkage includes a fitting system to avoid securing the linkage safety gear assembly to the frame the wrong
way round. This consists of a bolt M6 (33) that juts out of from the linkage support and prevents it from being
secured to the frame unless the bolt can be inserted into a hole previously made in the frame. This screw is not
supplied along with the driving bar but must be provided by the customer.

In cases where the sling is modified, it is only necessary to place this screw and fix the position of the safety gear
as indicated by the arrow.



INSTRUCTIONS: T25UD/T25v2 Cod: DYN 37.1.15 - DH”E I_EEH

Date: 10/10/2019 Check: 15

Figure 2: Bolt of securing the linkage to the frame in only one way

3.2 FIT THE TENSING UNIT - OPTIONAL

The tensing unit is supplied pre-assembled by default in the box. It is recommended to fit the tensing unit at the
safety gear-driving bar unit's side, where the governor’s hoist is located.

Fix the tensing unit via two M5X14 DIN 933 screws (26) and two M5 DIN0127 Grower washers (27) to the support plate
(1). See Figure 3 and

Figure 4

The tensor assembly is an option of the T25UD/T25v2 driving bar (is not standard). It should be requested if the
inertia of the rope system of the overspeed governor is very high. This occurs for very long cable lengths or with
large diameter ropes.

It must be installed on the support plate of the side where the overspeed governor anchor (8) is located.

Always check that the tensing device allows the governor to actuate. If not, adjust the force of the device by
loosening the screws (22) which anchor the springs (23).

Figure 3: Tensor Assembly



INSTRUCTIONS: T25UD/T25v2 Cod: DYN 37.1.15 "‘ ﬂHﬂﬂ TEEH

Date: 10/10/2019 Check: 15

Holes where the tensing system is atacched

Tensing system

Figure 4: Attachment of the tensing unit

3.3 ASSEMBLY OF THE LINKAGE ARMS AND SHAFT:

After installing the safety gear (1)
on the fame, introduce the arms
(3) inside the driving bar axle (4),
as shown in Figure 5

Figure 5: Positioning of the arm and the driving bar axle with the rest of the
assembly.



INSTRUCTIONS: T25UD/T25v2 Cod: DYN 37.1.15 {\‘ DH”E TEEH

Date: 10/10/2019 Check: 15

Next, position the previous assembly
between the safety gears installed on
the frame, as shown in Figure 6.

Figure 6: Positioning the shafts between the safety gears

Connect one of the two
arms (3) to one hub support
(2) using a DIN 912 M8 x 25
cylindrical head screw (5)
and a DIN 6798 (6) lock
washer. Perform the same
operation with the hub (2) of
the other safety gear.

Figure 7: Installing the bar on the hub



INSTRUCTIONS: T25UD/T25v2 Cod: DYN 37.1.15

Date: 10/10/2019 Check: 15

If the tensing system is fitted
in one of the brackets, insert
the arm’s shaft (3) between
both shaft's supporting parts
(21), unthread the Autoblock
DIN 985 M8 nuts (25) if
required.

dE1AT7eCH

Figure 8: Tensing system placed on support plate

This is one installation option. The driving bar can also be installed as shown below simply by changing the

assembly order.

Install one safety gear on the
frame. Next, connect one of the
two arms (3) to one hub support
(2) using a DIN 912 M8 x 25
cylindrical head screw (5). Insert
the Driving bar's Shaft (4). Next,
install the other part of the safety
gear plus the driving bar on the
frame, and repeat the Arm shaft
connection (3) to the hub (2) on

the other side

3.4 INSTALLATION OF THE DRIVING BAR AXLE:

Figure 10: Installation of the linkage shaft

Figure 9: Alternative installation of the linkage on the frame

The installation is
completed by adjusting the
arms within the tube (4)
and tightening the DIN 912
M6 x 20 bolts (7). It is
important to ensure that
the tube is symmetrical to
the two arms.



INSTRUCTIONS: T25UD/T25v2 Cod: DYN 37.1.15 \‘_ UH”E TEEH

Date: 10/10/2019 Check: 15

3.5 INSTALLATION OF THE
OVERSPEED GOVERNOR ANCHOR:

After installing the driving bar, the anchor of the
overspeed governor can be fastened on the most
convenient side of the linkage. Simply insert a DIN
9021 M12 nylon washer (12) and next the overspeed
governor anchor (8) on the pin extending from the
pull pivot (11) and fasten it using a DIN 125 M10 flat
washer (10) and a DIN 471, ¢= 10 mm elastic ring (9)
for shafts. It also includes a through hole to be able to
install a DIN 94, ¢= 2 mm cotter pin instead of the \
ring

[/

Figure 11: Installation of the overspeed governor anchor

3.5.1 MULTI-POSITION ATTACHMENT

Dynatech includes a Multi-position attachment to assist in
assembling the driving bar onto the installation. This part
has 5 positions where the governor’s rope can be anchored.
In this way, the distance between the centre of the guide rail
and the governor’s rope hoist can be increased (see Figure
12).

The drawing for the DYN 37.034 Multi-position attachment
part is included in section 4 of this manual, where the
measurements for the different attachment positions are
displayed.

Figure 12: Multi-position attachment



INSTRUCTIONS: T25UD/T25v2 Cod: DYN 37.1.15 ‘\_ DH”E TEEH

Date: 10/10/2019 Check: 15

The multi-position attachment (33) is fitted in
the same way as a conventional attachment.

As shown in Figure 13, simply insert a DIN
9021 M12 nylon washer (12) and next the
overspeed governor anchor (33) on the pin
extending from the pull pivot (11), securing it
with a DIN 125 M10 flat washer (10) and with
a DIN 471 ¢=10 mm elastic security ring for
axes (9), it also has a pin hole in order to be
able to place a DIN 94 ¢= 2 mm split pin to
replace the security ring.

Figure 13: Placing the multi-position attachment

3.6 ADDITIONAL INFORMATION:
TENSING UNIT ASSEMBLY
PER PARTS:

Install the tensor support (20) as indicated in
Figure 14, and fasten using DIN 933 M5x14
bolts (26) and DIN 127 M5 washers (27).
Then align the two axle supports (21) with the
tensor support, and subsequently insert the
DIN 931 M8 X 100 bolt (22) through the drill
hole of the support axle (21) and of the
tensor support (20). Introduce the spring and
complete by fastening the assembly using a
DIN 125 M8 washer (24) and a DIN 985 M8
lock nut (25)..

Figure 14: Installation of the tensor assembly

Next, the other DIN 931 M8 X 100 bolt (22) is sent through the free drill holes on the axle supports and through the
spring (23), as shown in the Figure 15. Finally, the assembly is completed by a DIN 125 M8 washer (24) and a
DIN 985 M8 lock nut (25),Figure 16.

10



INSTRUCTIONS: T25UD/T25v2 Cod: DYN 37.1.15 - DH”E I_EEH

Date: 10/10/2019 Check: 15

Figure 15: Installation of the springs of the tensor system Figure 16: Final layout of the system

An option where safety gears can be regulated on site is explained in the ASG series safety gear assembly manual.

3.7 SAFETY CONTACT OPTION

The safety contact (28) is fitted into the lower bracket (1) as displayed in Figure 17. To correctly fit the contact,
please align the lower side of the contact with the lower side of the bracket as displayed in Figure 18. The contact
(28) is secured by inserting two M4 X 35 DIN 933 screws (29), two M4 DIN 125 washers (30), two M4 DIN 6798
washers (31) and two M8 DIN 934 nuts (32). This way, the contact is not actuated for the driving bar standby
position and it will be activated as soon as the driving bar is operated.

Steering mechanisms T25v2 and T-25 UD enable the option to fit the safety contact in the best position available
for the installer. It may be located at the top or bottom of the lower bracket (1), as this part has holes for this
purpose. Please remember that, if the steering mechanism incorporates a tensing device see Figure 19, the
contact (28) and the tensing device can be jointly assembled, fitted according to the installer’s choice, one at the
bottom and the other at the top.

This is valid for both brackets, even though it is recommended to fit them on the bracket where the governor
attachment is (8) located.

Figure 18: OMRON Contact aligned with lower Bracket

Figure 17: OMRON Fitting

11



INSTRUCTIONS: T25UD/T25v2 Cod: DYN 37.1.15 ‘\_ DH”E TEEH

Date: 10/10/2019 Check: 15

Figure 20 End view of T25UD with options

12



INSTRUCTIONS: T25UD/T25v2 Cod: DYN 37.1.15 \‘ UH”E TEEH

Date: 10/10/2019 Check: 15
3.8 SPACE BETWEEN GUIDE RAILS OF OVER 3000 mm

The T25UD/T25v2 driving bar has a range of spaces
between guide rails of over 3000 and up to 4000 mm. The
list of components for this driving bar is attached in drawing
DYN 37.C12.

In this space range, the driving bar is equipped with a
subassembly known as the “intermediate point” (see Figure
21 Assembly process). This intermediate point (34) must be
secured as centrally as possible on the frame.

Figure 21 Assembly process

Figure 22: Final assembly

3.9 ACTIVATION OF THE T-25UD / T25v2 DRIVING BAR

The activation force of the driving bar is 150 N, which is required for the safety gear roller to touch the guide rail.
This force overcomes the force caused by the spring that returns the safety gear to its initial position.

This force will be greater if the driving bar is equipped with the tensor assembly option (Point 3.2 of this manual).

13



INSTRUCTIONS: T25UD/T25v2 Cod: DYN 37.1.15
Date: 10/10/2019 Check: 15

4 T25UD XL / T25v2 XL DRIVING BAR

There is a version of this driving bar called T25UD XL/
T25v2 XL. The difference between this driving bar and the
standard one is that there is an increased distance
between the centre of the guide rail and the point where
force is applied to the driving bar's knob to activate the
safety gear. In other words, the distance from the centre of
the guide rail to the rope attachment pivot (1la) is
increased.

This way, the rope attachment pivot (11a) is further away
from the guide rail and its brackets. This configuration is
useful when the driving bar and safety gear unit are
assembled in an installation where the guide’s rails are
lower, where the governor’'s attachment may interfere with
the guide rails’ own fixing elements, as is the case with
their fixing clamps (See 24).

There is the possibility of using a second cable grip pivot
(11b) nearer the guide rail centre.

dE1AT7eCH

O S
¥

\¥

=

e

-—

X

W

Figure 23: T25UD XL Driving bar

To assemble the T25UD XL/ T25v2 XL driving bar, please follow the steps explained in this manual for the T25UD /

T25v2 driving bar.

Figure 24: The increased distance between the guide rail centre to the rope attachment pivot

Important: The range of T25UD XL/ T25 XL driving bar’s interlocking rail goes from 600 mm to 2100 mm.

Section 7 of this manual displays the assembly drawings below for the XL version.

4.1 SPACE BETWEEN GUIDE RAILS OF OVER 2100 mm FOR T25UD/T25v2 XL DRIVING

BAR

The T25UD/T25v2 driving bar has a range of
spaces between guide rails of over 2100 and up
to 2600 mm. The list of components for this
driving bar is attached in drawing DYN 37.C12.

In this space range, the driving bar is equipped
with a subassembly known as the “intermediate
point” (see Figure 25). This intermediate point
(34) must be secured as centrally as possible on
the frame.

Figure 25: Intermediate point T25UD XL

14



INSTRUCTIONS: T25UD/T25v2 Cod: DYN 37.1.15 .\‘ UH”E TEEH

Date: 10/10/2019 Check: 15

Figure 26: T25UD XL final assembly

4.2 ACTIVATION OF THE T-25UD / T25v2 XL DRIVING BAR

The triggering force of the driving bar is 210 N if the force is placed on pivot (11a), and 180 N if it is placed on pivot
(11b). This force is required for the safety gear roller to touch the guide rail. This force breaks the resistance
caused by the spring that brings the safety gear back to its initial position.

This force will be greater if the driving bar is equipped with the tensor assembly option (Point 3.2 of this manual).

bt

/;ii

a2 9 q«\
1A,

Figure 27: T25UD XL final assembly

5 PREVIOUS VERSIONS: T-25 DRIVING BAR

The current one-way version of this driving bar is the T-25v2, which replaces the previous version known as the T-
25.

Please contact Dynatech should you require information on the previous version.

See drawings explaining the changes (DYN 37.CQ7).

15



INSTRUCTIONS: T25UD/T25v2 Cod: DYN 37.1.15

Date: 10/10/2019 Check: 15

6 TANDEM CONFIGURATION.

L

e

dE1AT7eCH

Please see the user and maintenance manual: DYN 37/8 — INSTRUCTIONS T25UD/T25v2 Tandem for further

information on the Tandem configuration.

7 ASSEMBLY’'S DRAWINGS

DYN 37.C01
DYN 37.C03
DYN 37.C05
DYN 37.C07
DYN 37.C08
DYN 37.C09
DYN 37.C10
DYN 37.C12
DYN 37.034
DYN 37/4.C001
DYN 37/4.C003
DYN 37/4.C005
DYN 37/4.C006
DYN 37/4.C007

16



9 1

] 4

:iod opinjiisng k e aAnyisng

HOEVRIE]

‘e|leosy

¢0'100°LE NAQ =N 'd0d ONvd

WO 891 -NId NNO3S VIONVYHITOL NIS Svdidan

‘SANOIOVAYISAO

an s¢1+an Osy VaVNYOVTO W 7012012 %m_g__‘g
a|quiasug/addnibneg/Alquassy/oiunfuo) SIGWON [ ewod
:dns 03|
dn GZ1+dN OSY :OINNrNOD ugw;m
1 = ‘leusieiy
t“.l“.l\ QQ qn s.w ‘OLNNIFNOD ¥0Od avdlLNvO
einb
OB |SSAISNS ) £102/L LIS B BIOUB]SIP SBIOUBIS|0) UBpeUR 83 ¢0
OdJel\N | HJelld |2102/90/L0 | seinb asus elouelsip 0)xa) apeue S| L0
opeqoudy| opelhqig eyos uoloduosa( ‘Ao
SOUOISIASI Bp |elIO]SIH
ayaiquaualyossbuniyn4
apinb ap unassied]
SOOI [IBJ 8pIND
einb ap einyouy ,
6. 16 869 G962 GGy G'oz |91
G'6. G'96 869 G962 GZ'Sy 9 Sl
08 96 8'69 G962 Sl'vy G'éz (vl
G'08 G'G6 81/ G862 GZ'ov 14 €l
18 G6 81/ G862 G/'Gy Sye |cl
G'l8 G'v6 81/ G862 GZ'Sy 144 Ll
Z8 6 €'¢el 00€ GZ'ov G'ez |0l
G'Z8 G'€6 €'¢l 00€ G/'Gy 124 6
€8 €6 g'el 00€ GZ'Gy Gze 8
G'es G'Z6 gel 00€ SLvy 44 L
(W) (ww)! (ww)y (ww)y (ww)s (ww)p | =
salnseap\/uabnssawqy/Sjuswainses|\/SepIpaj

‘Www 0001 SI9 000€ NOA ‘IMNNdT3LLIN 1IN

‘ww 000% ¥ 000€ 3d :3HIVIAINGSLNI LNIOd D3NV

‘Ww 0001 Ol 000€ INOHH “LNIOd AVM J4TVH HLIM

‘Ww 000% V¥ 000€ 3A :OIdIWH3LNI OLNNd NOD

‘Wwi 000€ Sid 009 NOA ANVLSEVSONNHHANAL

‘Ww000€ ¥ 009 3d S3dINS 341Nd 3ONVLSId

‘ww 000€ O1 009 NOH4 :STIVY 3dINOS N33M139 3ONVLSId

‘Ww 000€ v 009 3d SVINO 341N VIONVYLSId

OL'0F8LL

Tdh)
O

b ! Yy L'0S
D\ R
ol o
| @ OCO
(0]
IR ~ X
[ @ TL@T
n_v @\ owo

®
Pan
\.V
&
=
=)

[N
~

ge'ee

0L'0FGLCL

z'L

0S'0F¢

G0'9

14"

G'Ly

>

90¢

8y
¥'8S

G9'/9




9

14

:1od opinyisng *

e aAnyisng

HOEVRIE]

‘e|leosy

€0°€00°LE NAQ =N 'd00 ONVd

WO 891 -NId NNO3S VIONVYHITOL NIS Svdidan
‘SANOIOVAYISAO

AddNYONva/319INISN3 VaVAYOVTO W J0/20/12 oum_E__,_o
/IATGNISSVY/OLNNINOD 219N Zoed 0
. 100} "0}
ﬁ_ D@Nu_- “OLNNFNOD :0peuIWIs) 0Sad
- HEEIETN
t“l“.l\ QQ‘ qn s.w ‘OLNNIFNOD ¥0Od avdlLNvO
OQJe|N " | SBAIBNG ' | L10Z/L LIS Selouels|o) uspeue ag €0
OdIEN | HJeld 210¢/90/10 olpaw.ajul ojund speue ag 20
VvO10 - €102/¥0/80 SEWwoIpl SO| 8p ugloeolun 10
opeqoudy| opelnqig eyos4 uoloduosag e
SOUOISINSI Bp |elIO}SIH
a)lalquauaiyossbuniyny
apInb ap Inassied]
SSOUXDIU) |18l apIND
einb ap einyouy,
16 8'69 G962 GGy g9z |9l
G'96 8'69 G962 GZ'Sy ]
96 869 G962 Sl'vy Gz |vl
G'G6 81/ G862 GZ'ov €l
G6 81/ G862 GGy Svyz |l
S'v6 81/ G862 GZ'Sy Ll
76 g'el 00¢ GZ'ov G'ez |0l
G'€6 g'el 00¢ G/'Sy 6
€6 g'el 00¢ GZ'Sy Gze 8
626 g'el 00¢ Sy L
_ Yy ) 9 *
uabnssawqy /S2INSea|\ /SIUBWAINSEI|\ /SEePIPaIA

0L'0F8LL

=
OXQ)
|

©

©

OO

90¢

OL'0FGLCL <

leuondo
[puuondQ
leuondo

_mco_oaO/

g

‘Ww 000¥ SI9 000€ NOA *IMNNGTILLIN LIN

‘Ww 000y ¥ 000€ 3d :JHIVIAIWSHILNI LNIOd O3AVY

g

| © K

‘Ww 000€ Sid 009 NOA ANVLSEVSONNYHAA

‘Ww 000€ Y 009 3d S3dINS 341N3 IONVLSId

‘Ww 000 O1 000€ INOHS “LNIOd AVM J4TVH HLIM

‘wWw 000v v 000€ 3A :OId3IWEILNI OLNNd NOD

‘ww 000€ O1 009 WOH4 :STIVd 3dINS N33M139 3ONVLSId

‘Ww 000€ v 009 3d SVINO 341N3 VIONVLSId

V.

g

v

ZiN

(3 | ¢ |




@:8 opinsns | _ ‘e aAnysng 2 : ”ohwsw_u_ <mu|_w €10¢/¥0/8 . sauabewl mm uoloezl|ienjoy : 3
. . . - opeqol eyoo4 uolodiose ‘AS9Y
| OSODLE NAQ o 10 000 10938 Wi e e OPERDC usmarsm ot

usjusuodwos ap Bunuysiezag i ! PUWION
/syuesdwoD sep uonesynuap| /siuauodwod ay) e TSN%%U.\MN opeinaig
JO uonEdYIUBP| /S8jUBUOdWOD SO| P UOIDBdLIUSP| dns oL
an GzL ‘oiNnrmoo Ce
Jeusle
I _IU| mqmn ‘OLNNIFNOD ¥0Od avdlLNvO

sMulj

HOIUOWIOA NGZL

uasyoeuly abuejsabasg|sny

/selq saxy /ayoneb

/S8|Xe Wiy () egjuow-aid NSzl

walsAsuueds uondQ

/inapual awlSAS np uondo

J/u011d0 W3ISAS JI0SuUa]

/10SUa)] eWaISIS ap uolodo

PlejuoxssQ|sny syosups|3
/enbuoslo
JUBWBYOUS|I8p Bp JOBU0)
/10epo0o duy o1109|3

/021088 oJedsip 8p 0j0BU0D X L

bunsQ|sny ayosupe|e uondQ

/2Nb11129|9

JUsWwiayoua|d9p ap uondo

juondo diiy o11109[3

/0211129]9 oJedsIp ap uglddQ

apuewWWOD ap alleg
/deq Buiaup anseL
pajquasseald 1o
/opzi opejuowsa.d

Jozelq sal3 XZ

angcl elsuowi |
+dN OSV X|,
asyoeuabueisbnz (+)
/OPUBWIWOD 8p alleq axy v
/a|xe Jeq BuiaLg
/eusuown al3 YK L
sjyoal

JanuowloA NSzl
abue)sabaso|sny

/eyoup
dgjuow-a1d aNGzL
apuewwo ap aleg

/deq Buiaup ansgeL

Bunbnsajaqglazuaibag pojquuasseaid By

anajwi| np sbewiy <&
/ \mmm_v_c_ﬂ_v._oc._m>ow Q (8) Joyop opejuowsald
. Jlopejuw| dngz.l elsuowi ]
(| +dN OSV X,

lop auewy X |

\
Y

9 | g




9 ] g ] 14 g ] 14 ] L

od opmigens | & shmpsng BRI vO10 EIqnLIo] "Y' 610¢/50/60 | 1206 NI E|Spuele epIpeUY L
10°S0D°2E NAQ N ‘00D ONv1d | WO 89LL-NIG NNOIS VIONWNITOL NIS SVaIdan|  opeqo.dy opelnqig eyos- uoloduosag ‘oY
ejeos3 “SANOIOVAHISHO SBUOISIASI 3p |BLIo)SIH

usjusuodwod ap Bunuyolezag EWION
/Sluesdwiod sap uonesyusp| /sjusuodwod auy) 2opLeoHd 1el0g/g0/ce fopendg
40 UOI}eOlUBP| /SB}UBUOAIOD SO| 3P UOIDEDLIUSP| pr—
an SZL :0LNNFNOD oo
opeulwlg) 0sad
u \ REREEN
tul F QQ‘ qn : OLNNINOD J0d avalLNvO

vIN ¥€6 NI SINN / SnoId] / SINN / sedlen] ¢
GEXVIN 8'8 €6 NIQ USqneyoSs / SSSIA / SMaIOS / SOJ[IUIOL ¢
vIN 869 NIQ usqgisyosiayoe / 2iNsl9)Xa ainjusp Sa||Spuoy / SISYSEM X0| pajelias / Sepell)ss sejspuely ¢

YN G2l NId mn_mr_owmmtmﬁcD / 212lNS NP heauuy/ / 3||IDpuUoy / JSYSEAA / e|epuely ¢

ONNSOISNv
JHIOSIH1X3 73 NOILdO S3d NIFNVHHIS /3N0I41937d LNJWIHIONIT1O3d 3d NOILdO.T 3d JI¥FSSIA
/NOILdO dId1 D1419037d FHL 40 SMIHIS /0D141031d OdVdSId 3d NOIOdO V1 3d VIHITIINYOL

0ZXZ - ¥6 NIQ siulds / enpusy 8jjidnos / uid Jej0 / e}S|e ap Jopesed |

0l8syoy / exy / 8IXy / @[3 | /¥ NIQ Bulsysyisyolg / Buu Aysjes / pepunbag ep ojjiuy |

OLIN G2l NIQ eqieyosbaliaiun / 8}eins Np nesuuy / 8[|apuoy / Jaysep) / ejspuely |

ZLIN 1206 NIQ @qiayosbsjiajun / 8jains Np nesuuy / 8||opuoy / JBYSeN) / BlSpuely |

SIN €9 NId cmn_:m._cowwmc:m:mmpmm / 2]1UJNO3S 9P 3||DPUOY / JSySem \n_mu:mm / Um_u_._smmw op e|jspuely ¢
GEXGIN £€6 NIQ USgneyos / SesIA / SMaJ0S / SO||iulo] ¢

GZX8IN 8'8 Z16 NIQ usgneyos / sesi/\ / SMaI0S / SO||IuI0] Z

0ZX9IN 8'8 ¢L6 NId usagneydg / SSSIA / SMaIJS / SO||IUIO] ¢
gIN 8679 NIQ uaqgiayosiayoe / 8inalg)xe ainjusp Sa||apuoy / SISYSEM Y00| palelias / Sepellise sejspuely g

dnscl FONYILSIOISOTISNY SIA NIFNVHHIS /dNsZl AANVIWNOOD 3d FHdVvE
V1 3d FI4FSSIN / 4VE ONINYA dNSel FHL 40 SMIHIS /dNSeL VIHINOWIL V1 3d VIHFTIINYOL

9 | S | v AV € | [4 | I




9 ] S ] 14 LV € | 4 |

:1od opinyysng k e aAnyisng :0Jayol4
00°200°2€ NAQ N ‘000 ONv1d | WO 8942-NIQ NNO3S VIONVHITOL NIS SYaIaan
‘e|eosy ‘SANOIOVAHISEO
7 euloN
4 HVEONIAYA /VIYINOWIL [ V99MPovTo [siogigre [omme
:dns "0}
ZNGZ-1 ® GZ-1 :0LNNrNOD o0 o
:0peulwla) 0sad
_u \ S HETEEN]
t“l — QQ‘ qn s.w ‘OLNNFNOD HOd avdlLNVYO
G962 G'96¢
S N of My &>
()] ©@] I\
1]
o)
o o
o o
© o ©® ® °g°

X\

90¢

7N\
Y 3 | o (o] o @U S S |o m o @vv
=
@ 0% @ 0, . 0o
|8 L ie [[-o | °*
GLTL GL'TL

V.

7'8G

|
[
o
—’
0]

62

7'8G

(




9 | ] | 14 € ] 14 ] 3
:iod opinjiisng k e aAnyisng :0Jayol4
: . N “00D ONVd | WO 8912-NIQ NND3S VIONVEITIOL NIS SYaIdan
‘e|eosy 00°£00°2€ NAD ‘SANOIOVAHISEO
euloN
HVE ONIAIYA /VIYINOWIL | Vo¥y0vT0 [siogique [aema
:dns "0}
ZASZ-1'® AN GZ-1 ‘OLINNrNOD 2o
:0peulwla) 0sad
TICUARLC =
t“l — q s.w ‘OLNNFNOD HOd avdlLNVYO
G962 G'96¢
Q N ©
< @1

8.1

©

©

OOO
o

X\

—

NN
oD )

/

90¢

¥'8G

6¢

(

8.1

O]

O]

ces

90¢

¥'8S

6¢

dn &c-1




‘Ww 000€ Y 009 3d S3AINO 341Nd IONVLSId

‘ww 000€ O1 009 NOH4 :STIVY 3dINS N33M139 3ONV1SId
‘ww 000€ vV 009 3d SVINO 341N VIONVYLSId

G9'/9

9 ] S ] 14 € ] 4 ] L
:iod opinjiisng k e aAnyisng :0Jayol4
: : N NS 8912-NIA NND3IS VIONVHITOL NIS SYaIaaw
‘ejeosy 0800 LE NAQ N @00 ONvId 'SANOIOVAYISEO
euuo b | y ¢
CN GC1+OSY YIVAYOVTO erow:o\mw oum_:g__,_o £08
a|quiasug/addnibneg/Ajlquassy/oiunfuo) SIGUON [ ewod \0. °
:dns "0} 2 —_
<
CAGZ1+ DSV :OINNrNOD oo © T
:opeulw.d) 0Sad
=7 [~ < O A
t“l — QQ qn M }0LNNFNOD ¥Od avalLNYD ® __ __ \J Ava
001\ °F |SeNeNS T | 210Z/LLI0Z seind sej ap 20 - ) ,
SBJ00 SE| B SeIOUBIS|0) Uspeue g : @ o
OJEN | HAJIelld |.102/90/L0 olpawaiul ojund apeye 8g L0 @ @ o & o
opeqoldy| opelnqig | eyoe4 uonduosa( A9y [ ]
SBUOISIABI Bp |elIoISIH = ~ \/
(o] | N
H o
P o e @ {0 &
a)alquauaiyossbuniyny > N W
apInb ap Insssiedy IREI=s /(\
S$SauoIy} |led sping @ @ ‘ o}
einb sp einyouy , 9,0
6. 16 869 G'96¢2 G/'Sy G'oz |9l @ ) @ @_3
S'6. G'06 869 G962 GZ'sy 9 gl I
08 96 869 S962 | SLbb g5z |vh m __ __ -, I D
G'08 G'G6 81/ G'86¢2 GZ'oy 14 €l —
18 S6 81/ G'86¢2 G/'Sy S've |2l ~
618 S'v6 81/ G'86¢2 GZ'sy 144 Ll Ge'ee
28 ¥6 eel 00¢ GZ'oy g'ec |0l - -
G'z8 G'c6 eel 00€ Gl'sy €z 6 0L0FSL¢cL
€8 €6 e'el 00¢ Gz'sy G2e 8
G'e8 G'Z6 eeL 00¢ Sl'vy Zc L - J
(W) (ww)i (wu)y (ww)y (ww)s (wu)p | = o
salnseaj)/uabnssawqy/sjuswainsea|/SEPIPON H )
3 & .
V) S09
N
_ _ S [T 1 1 5
wwi 000% SI9 000€ NOA “IMNNdT3LLIN LIN o A
‘Ww 0007 ¥ 000€ 3A -FHIVIAIWHILNI LNIOd OIAVY m \ ES
‘Ww 000¥ OL 000€ INOYL "LNIOd AVM JTVH HLIM =1 T - T
‘Ww 000¥ V 000€ 3A OId3NG3LNI OLNNd NOD f —
G0Fc
"Ww 000€ S19 009 NOA ANVLSIVYSONNIHNA — )




9 ] S ] 14 LV € | 4 |

90¢

:1od opinyysng k e aAnyisng :0Jayol4
. . ‘N WD 8912-NId NNOIS VIONVHITOL NIS SYAIaan
‘ejeosy 0600 L€ NAG N 909 ONV1q ‘SANOIOVANISEO
3ddny¥oNve/319N3ISNI VEVAYOVTO rssg\e S ! Y
d [ATaINISSY/OLNNINOD 2I0UoN I T
. 100} 0}
N> mNu_u “OLNNFNOD :opeulwIa) 0sad
_u \ . HEEIETN m
t“l — QQ‘ qn s.w ‘OLNNFNOD HOd avdlLNVO M“VP
00JBIN ' | SBAIBNS °T'| 21021 /02 sosolnbe aua 20 -
I SBJ00 S| B SBIOURIS|0) Uspeue 8g
coleN | HJelld |Z+02/90/10 olpawajul ojund Speye og 10 ® 0o?
opeqoldy| opelnqig | eyoe4 uoduosaq A9y o
S8UOISIA8I 8p |elloISIH N “%
/_
[0) |
a)laiquausiyossbuniyn4 H o T%@
0 opinb op Inessieds 2 ,
SSaUNOIY) [l BpIND ,
ejnb ap einyouy, @
o
16 869 G'96¢2 Gl'Gy 6oz 9l @ o o
G'96 869 G'96¢2 Gz'sy 9c Gl f O
96 869 G'96¢2 GL'vy G'sg vl l
5> 5'G6 81/, | 686z | Gzov Sz__eb A= _ S 3dnN
G6 812 G'86¢ GL'GY S've |2l © __ __ U umﬁ
S'v6 81/ G'86¢ Gz'sy 144 Ll
6 g'el 00€ GZ'oy G'ez 0] ,OnV
G'c6 g'el 00€ GGy €c 6 . . £,
€6 £/ 00€ sgsy | ez |8 LoFsLeL ©
G'Z6 g'el 00¢€ Sl'vy [44 L
g _ y I o p * i
usbnssawqy /Sainses) /SlusLaINSea|\ /SepIPSA
leuondo
[suuondQ
leuondo
_mco_oao|\vd
— bl
| | m
o
v ‘wiw 000% SId 000€ NOA " IMNNTILLIN 1IN ‘wuw 000€ SI9d 009 NOA ANVLSAVSONNHHNS
‘ww 000% ¥ 000€ 3A -FHIVIAIWHTILNI LNIOd D3NV ‘ww 000€ VY 009 3d S3AIND FJ1LN3 FONVLSIA
‘wuw 000F OL 000€ INOYH ‘LNIOd AVM 4TVH HLIM  "Www 000€ O1 009 WNOY4 -STIvd 3dIND NIIML3F9 JONVLSIA
‘wuw 000¥ v 000€ 3d -Old3NY3ILNI OLNNd NOD ‘ww 000€ Vv 009 3d SVINS FHLN3 VIONVLSId

9 | S | v R_V S | [4 |



9 ] S

] 4

:iod opinjiisng i e aAnyisng

HOEVRIE]

00°0LO°LE NAQ N 'd02 ONv'd

‘e|eosy

WO 891 -NId NNO3S VIONVYHITOL NIS Svdidan

‘SANOIOVAYISAO

uajuauodwod ap Bunuyodlezeg

7 euloN

/Siuesdwiod sap uoleoliuap| /siusuodwos sy}

O uoneoUSBp| /S8IUBUOdWOD SO| 8P UOIOBDIUSP|

¢N\ GZ1 ‘OLNNFNOO
HIZIBUGRLC

walsAsuueds uondo
/inapual awlSAS np uondo
J/u011d0 W3ISAS JI0SuUa]
/I0SUd]1 BW=IISIS 9p uoI1ddO

Plejuo)ssQisny syosups|3
J/enbuoslo
JUBWIBYOUS|I8P Bp JOBIU0)
/1oepo0o duj o1109|3

/021088 oJedsip 8p 0j0BU0D X L

bunsQ|sny ayosupe|e uondQ
/2Nb11129|9

Jusawayaua|d9p ap uondo
juondo dii 29112913

/0211129]9 oJedsIp ap uglddQ

YIVAVIOVYTO imrom\mo\m_. opelnqid
SIqUION [ Byoo
:dns "0}
‘OLNNFNOD "HOd D<DLFZ<U
s)ulj
UBINUOWIIOA ZAGZL
uasyoeuly mmcmywmmwwo_msm
/SElq SaXy /ayone
/S9|Xe Wiy (g) ag)uow-aid zagz L
Jozeuq sal3 XZ spuewwod ap alleg
/4eq BuIAUp ZAGZ L
pajquiasseald 1o
/opz!I opejuowaid
¢NG¢Z1 ellsuowl |
+ OSY Xr
asyoeuabueisbnz (+)
JopuUBWWOD Bp alieq axy v
/a|xe Jeq Buiauq
/elisuown a3 y —\
Sjyoal

HBIJUOWIIOA ZAGZ 1
abuejsabaso|sny
/oy04p

d9juow-a1d gAGZ L
apuewwo ap alleg
/1eq Buiaup zagzl

Bunbnsajaqiazuaibag pojquiasseaid 1By

J/inaywi| np abewly

<

(8) /oyop opejuowsa.d
fobeuy LOWHMMM%E__ ¢NGZ1 ellsuowl |
‘1 + DSV X|,

lop auewy X |

Zc
2

)

/)

1L AN

=

9 | S




9 ] g ] 14 € ] 4 ] 3
1od opMENS | & shmpsns RILELE! vO10 ElIqnlio] 'v'r| 610¢/50/60 | L 06 NIA E|Spuele epipeuy b
00°0L°2E NAQ ‘oN 00D ONv1d | WO 89L2:NId NNO3S VIONVNITOL NIS SYaIdan|  opeqo.dy opelnqig eyos4 uoloduosag ‘ASY
‘ejeos3 ‘SINOIOVAYISEO SOUOISIAG] 3P [BHOISIH
uajusuodwod ap Bunuyodiazag . EWION
/Sluesdwiod sap uolesynuep| /sjusuoduwiod sy} <m<w_n.<c%5 O lsiogigel |opehaa
40 UOI}eOlUBP| /SB}UBUOAIOD SO| 3P UOIDEDLIUSP| “dns o1
ZN\ SZL ‘OLNNFNOD ool
opeululg) 0sad
HIZIieUR
r N Q q D 4 OLNNINOD ¥0d avadlLNYO

vIN ¥€6 NI SINN / SnoId] / SINN / sedlen] ¢
GEXVIN 8'8 €6 NIQ USqNeYoS / SSSIA / SMaJOS / SOJ[IUIOL ¢
vIN 869 NIQ usqgisyosiayoe / 2iNsl9)Xa aiNjusp Sa||Spuoy / SISYSEM 30| pajelias / Sepell)ss sejspuely ¢

YN G2l NId mn_mr_owmmtmﬁcD / 212lNS NP heauuy/ / 3||IDpuUoy / JSYSEAA / e|epuely ¢

ONNSOISNv
JHIOSIH1X3 73 NOILdO S3d NIFNVHHIS /3N0I419317d LNJWIHIONIT1O3d 3d NOILdO.T 3d JI¥FSSIA
/NOILdO diId1 D141037d FHL 40 SM3HIS /0D141031d OdVdSId 3d NOIOdO V1 3d VIdITIINYOL

0ZXZ - ¥6 NIQ siulds / enpusy 8jjidnos / uid Jej0 / e}S|e ap Jopesed |

0l8syoy / exy / 8IXy / @[3 | /¥ NIQ Bulsysyiayolg / Buu Aysjes / pepunbag ep ojjiuy |

OLIN G2l NIQ eqieyosbaliaiun / 8}eins Np nesuuy / 8[|apuoy / Jaysep) / ejspuely |

ZLIN 1206 NIQ @qieyosbsjiajun / 8jains Np neauuy / 8||apuoy / J8YSeN) / BlSpuely |

SIN €9 NId cmn_:m._cowwmc:m:mmpmm / 2]1UJNO3S 9P 3||DPUOY / JBySem \n_mu:mm / Um_u_._smmw op e|jspuely ¢
GEXGIN £€6 NIQ USgneyos / SesIA / SMaJ0S / SO||iulo] ¢

GZX8IN 8'8 Z16 NIQ usgneyos / sesi/\ / SMaI0S / SO||IuI0] Z

0ZX9IN 8'8 €L 6 NId usagneyds / SSSIA / SMaIOS / SO||IUIO] ¢
gIN 8679 NIQ uaqgiayosiayoe / 8inalg)xe ainjusp Sa||apuoy / SISYSEM Y00| palelias / Sepellise sejapuely g

¢NSCL FONYLSIOISOTISNY SIA NILNVHHIS /ZASCL JANVINNOD 3d FHHVE
V13d FI43SSIN / dVE ONIAINA ¢ASZL dHL 40 SMIHIOS /NSCL VIHINOWIL V1 3d VIdITIINYOL

9 | g | v R_V € | [4 | I




g ¢ v

@. d i _ ‘e ok 2 :0J18ydl4 £ _ <
00°ZLD° L€ NAQ:N ‘000 ONYd [ WO 8942-NIQ NNO3S VIONVHITOL NIS SYaIa3w
‘e|eosy ‘SANOIOVAHISEO
uajuauodwod ap Bunuyolezag | BULON
a /sSiuesdwod sap uoneaynusp| /sjusuodwos syl w__ngcw_v_m_ TSN%%U.@F openaig mwcomcmmcmawODN A._wv
JO uoneaiusp| \wwucwcoagoo SO| 9p uoidedlijuap| “dns opL \@UCWEEOO @U w._._mﬂ ®X<
000% V 000€ VINDIHLNI AN GZ1 *0LNNFNOO Ugow:m /oIxe Jeq Buiaug
— e /elsuown a3 ¥
t I.“l mQ qn ‘OLNNIFNOD ¥0Od avdlLNvO N
Bunbnsajaqliazuaibag
/inajiwi np abewly (8) ussyoeuy
Jabeyul| Joulanos /Selq dXyY
9 [1opE)WI| [9p SLBWY X |, \wowN_Mhmnc%_M Xe
€-1 usqeuzims
—P> welsAsuuedg /€-1 Indde sanbeg
/INapua) awaisAg /e-1 den poddng SHUI| YBIUOWIOA
Jwia)sAs Josus | /6-1 okode elng X dngzl ebuejsabasglsny
/l0SU8)} BWSISIS X . | /ayoneb sgjuow-a.d
. | ANSZL @puewwod ap alleg
/ieq Bulaup
8 dnszl pejquasseald ya]
:uondo /uolddo ¢-1 UsSUONQUOJAN /opzi opejuowald
- dnegc¢l eysuowl] + dN 9SY
PEIUONOSQISNY BUOSLEIT /€-1 UOIAN Saliinog Xl
\ODU_._”—OQ_@ \®||_| Q_|_| CO_>Z
_ JUBWAYOUS[O8p Bp 10BJUOD /€-1 uojAu ojjinbse) ¥ L S14081 11BNUOLLIOA
/10e09 du} 01109|3 anszl omcﬂwmmmw@_m:,q
/O01108|8 OJedsip ap 0JoBU0D Y L /8}10.p 991UOW-1d
ANSZL @puewwOD ap alleg
¢-1 syyoal aypejdpunio J1eq BuiALp
v (82) g-1 eyloIp aseq anbe|d ansz.L pejqwasseaid 1ybry

-uondQ /uolddQ

/e-1 @yeld Bununow jybry
/g-1 eyop eseq eoeld X |, -

\)

/oyop opejuowaid
adngcZl elsuowl] +dnN 9SY X —\

9 | S

! ’ ZiN




9 ] S ] %4 g ] 4 3
o3 opens | = ofmns °RRElTy910 | eiqnuol Y1 6102/50/60 [1206 NIQ Blepuele epipeyy| |
00210 /S NAQ N ‘G020 ONv1d | WO 8912:NIQ NNO3S VIONWNITOL NIS SYaAIdaIn| opeqoudy opelnagiq eyos4 uoloduoseq ‘A9
ejeos3 “SANOIOVAHISHO SaUOISIASI Bp |BLIo)SIH
usjusuodwod sp Bunuyslezag — —
/sSiuesdwiod sap uonesuap| /sjusuodwod sy} 4o ungn_v.m I
uonediynuapj| \wmuCQCOQEOO SO| 9p uoioediuap| :dns "011

00} ‘0}1

opeuIuwId) 0sad

000% V 000€ VINOIYLNT AN GZL-OLNNFNOD

t“l"l\ mtmm ; OLNNINOD ¥Od Q«M“w““_zo

vIN €6 NIQ SINN / SN0JO7 / SINN / sedJan| ¢

GEXYIN 8'8 €€6 NIQ usqneyos / SSSIA / SMIIOS / SO[|IUI0] ¢

vIN 8629 NIQ Uaqiayosiayoe / ainalig)xe ainjusp So||apuoy / SISUSeMm 300| pajellas / Sepel)se sejspuely g
N GZI NIQ Usqiayosbajisjun / sa]|9puoy / SIaUsep / Sejepuely g

ONNSOTSNY FHOSIHLYI T3 NOILdO S3d NIFNVHHIS /ANDIM103T73 INJWIHONITO3d 3d NOILdO.T
3d FI14FSSIA /NOILdO didL O1d41037d FHL 40 SMIHIS /001H1LI371d OdVdSId 3d NOIOdO V1 3d VIHdITIINYOL

0CZX9IN 8'8 16 NIQ usqneJdyos / sssIA / SMaJI0S / SO||luI0] ¢

9LX8IN 8'8 ZL6 NIQ 29neqyds / SIA / MaIOS / Of|lulo] |

0€ @syoy / axy / 8|xy / 8lF | /¥ NIQ Bulsysyisyolg / bull Ajeyes / peplnbag ep ojjiuy |

02XZ - ¥6 NIQ sjulids / enpusy 8||idnog) / uid Je}o / ejs|e ap Jopesed |

0Lesyoy / axy / o)Xy / 83 |/ NIQ Buusysyiayols / bull Ajeyes / peplinbag ep ojjiuy |

OLIN GZI NIQ uaqiayosBaliajun / 8jjepuoy / JaYsep) / ejspuely |

ZLIN 1206 NIQ ueqiayosbajisiun / 8||opuoy / JI8Ysep) / ejepuely |

8N £9% NIQ uagnelyossbunbiysajag / 811IN03s ap o||apuoy / Jaysem A}ajes / peplinbas ap ejspuely g
GEXBIN 8'8 £€€6 NIQ usgnelyos / sssi/\ / SMaI0S / SO||IUI0] ¢

GCX8IN 8'8 16 NIQ usqgneJdyds / sssi/ / SMaI0S / SO[|luIo] ¢

0ZX9IN 8'8 216 NIQ usgnelyds / sssIA / SMaI0S / SO||IuIo] ¢

8N 8629 NIQ uUagiayosiayoe / ainalid)xe ainjuap Sa||apuoy / SIaySem YOO0| pajellas / Sepellsa sejapuely g

0007-000€ -dN S¢1 FONYLSIOISQTSNY SIdA NIFNVHHIS /dn s¢1 IANVIWNOO
30 FHHVE V1 3d FI4FSSIA 7/ dVE ONIANIYMA dN §¢1 FHL 40 SMIHOS /AN S¢L VIdINOWIL V1 3d VIdTTIINYOL

9 | g | v R_V € | [4 | I



9 ]
:iod opinjiisng k e aAnyisng _ “O‘_ws.w_u_ m _ _ F
00'7S0°2S NAQ N ‘000 ONvd | WO 8912-NIQ NNO3S VIONVHTTOL NIS SYAIIW k g'i8l
‘e|eos3 ‘SANOIOVAYISEO 8L1¢€
7 BWION
co_o_wOQ;_:E Jopejiwli| alewy VIVINWYOVTO _ [€10¢/80/cc | opeinaia
7 . . . BIqUION [ CIREE]
:dns 03|
dn SZ1/SZ1+aN O9SV/OSY  :0INNrNOD : 2o
O! @@.V O :opeulw.a) 0Sad
_u \ T Nmuun_.m HETEEN]
t“l — QQ‘ qn s.w —‘ ‘OLNNFNOD HOd avdlLNVO
w
wW
@
w
w
o
w
& %
N
L szl
S
R 051 GLL v
9 | | v [ | | 3




] 2 ] 3 €7 4 ] 5 ] 6

DISTANCIA ENTRE GUIAS DE 600 A 2100 mm.

DISTANCE BETWEEN GUIDE RAILS: FROM 600 TO 2100 mm.
DISTANCE ENTRE GUIDES DE 600 A 2100 mm.
FUHRUNGSABSTAND VON 600 BIS 2100 mm.

67,65

L _J
- ! 2+0,5
i | E=s ||
I  —" L \ — e CON PUNTO INTERMEDIO: DE 2100 A 2600 mm.
; —, 6,05 ) = WITH HALF WAY POINT: FROM 2100 TO 2600 mm.
O | o : | | | 0 AVEC POINT INTERMEDIAIRE: DE 2100 A 2600 mm.
= 1 | | S MIT MITTELPUNKT: VON 2100 BIS 2600 mm.
N
N
224 g ~
.H
[ep]
f
Medidas/Measurements/Abmessugen/Measures

72,754 0,10 + [ d(mm) [ e(mm) | flmm) [ h(mm) [ i(mm) [k(mm) [ j(mm)
’ ’ 7 22 44,75 379 73,3 171,5 | 83,5 | 1285

8 22,5 45,25 379 73,3 172 83 129
Py || || ® 9 23 45,75 379 73,3 1725 | 82,5 | 129,5

up <D D@ 10| 235 | 4625 | 379 | 733 | 173 | 82 | 130
ﬁ 11 24 45,25 377,5 71,8 173,5 | 81,5 | 130,5

12 24,5 45,75 377,5 71,8 174 81 131

® ® 14| 255 | 44,75 | 3755 | 698 | 1756 | 80 | 132

1} 13 25 46,25 377,5 71,8 1745 | 80,5 | 131,5

206

A
m]
178+0,10

Historial de revisiones

Rev. Descripcion Fecha Dibujado |Aprobado

° v A 15 26 45,25 375,5 69,8 1755 | 79,5 | 1325
N 16| 265 | 4575 | 3755 | 69,8 | 176 | 79 | 133
‘ * Anchura de guia / Guide width / Guide de largeur / Fihrungsschienen

1 Increase of distance between guides range [02/05/2017| J.Marco [J. Marco
T ©) ©
o o o 2 | Se afiaden tolerancias a las cotas de las guias |27/11/2017 | J. Suelves |J. Marco
: Se afade segundo agujero para amarre -
3 L ) 11/01/2018 | J. Suelves [J. Marco
- - limitador y cota (j)
Py " " ® CANTIDAD POR CONJUNTO: § DL ’”a — -EH
{} m" \J " " @ Material: k'mh I :
Peso terminado:
d | & To oo CONJUNTO:  ASG UD+T25 UD XL
Al Tto. sup:

. e T —Bomore Conjunto/Assembly/Baugruppe/Emsemble

J — : ASG UD+T25 UD XL
50,7 h i K OBSERVACIONES: Escala:

MEDIDAS SIN TOLERANCIA SEGUN DIN-7168 GM | PLANO coD. N:DYN 37/4.C001.03

Fichero: Sustituye a: ‘ Sustituido por:

| 2 | 3 4& 4 | 5 | 6




1 | 2 | 3 €7 4 | 5 | 6

Opcién de sistema tensor/

1X ASG UD + Timoneria T25UD

Q| o Tensor system option/
XL premontado dcho/ 1X Amarre del limitador/ Option du systéme tendeur/
Right preassembled T25UD XL Governor linkage/ Option Spannsystem
driving bar/ Arrimage du limiteur/
Barre de commande T25UD XL Begrenzerbefestigung
pré-montée droite/ g
Auslésegestange T25UD XL (8)
vormontiert rechts
1X ASG UD + Timoneria T25UD
premontado izdo/ N Opcién de disparo eléctrico/
tL)zl:; preassembled T25UD driving Electric trip option/
Barre de commande T25UD thlo_n de declenchement
pré-montée gauche/ electrique/ )
Auslosegestange T25UD Option elektrische Ausldsung
vormontiert links
1 X Contacto de disparo eléctrico/
Electric trip contact/
Contact de declenchement
2X Ejes brazo/ (20) électrique/ )
Arm axles/ Elektrische Auslosekontakt
Axes bras/
(3) Armachsen

Historial de revisiones

Rev. Descripcion Fecha Dibujado | Aprobado

01 Se actualizan conjuntos (1) 29/02/2016 | Pilar H J.Marco

02 Se anade segundo pivote 29/01/2018 |J. Suelves| J. Marco

(;:l::’::éD POR CONJUNTO: k‘m DH”B I-'EEH

Peso terminado:

CONJUNTO: T25 UD XL

Tto. tco:

1 X Eje timoneria/ Tto. sup: Identificacion de los componentes/ Identification of
. — Fecha Nombre the components/ Identification des compsants/
(4) Dr|V|ng bar axle/ DNermg 17/02/2014 J. Marco Bezeichnung de componenten
AXe barre de Commande/ OBSERVACIONES: Escala:
Zugstangenachse MEDIDAS SIN TOLERANCIA SEGUN DIN-7168 GM | PLANO COD.NDYN 37/4.C003.02
Fichero: Sustituye a: ‘ Sustituido por:

1 | 2 | 3 Zlk 4 | 5 |




1 1 2 1 3 ﬂ7 4 1 5 1 6

TORNILLERIA DE LA TIMONERIA T25UD XL / SCREWS OF THE T25UD XL DRIVING BAR / VISSERIE DE
LA BARRE DE COMMANDE T25UD XL / SCHRAUBEN DES AUSLOSEGESTANGE T25UD XL

2 Arandelas estriadas / Serrated lock washers / Rondelles denture extérieure / Facherscheiben DIN 6798 M8
2 Tornillos / Screws / Vises / Schauben DIN 912 8.8 M6x20

2 Tornillos / Screws / Vises / Schauben DIN 912 8.8 M8x25

2 Tornillos / Screws / Vises / Schauben DIN 933 M8x35

2 Arandela de seguridad / Safety washer / Rondelle de sécurité / Befestigungsschrauben DIN 463 M81

1 Arandela / Washer / Rondelle / Anneau du surete / Unterlegscheibe DIN 9021 M12

1 Arandela / Washer / Rondelle / Anneau du s(rete / Unterlegscheibe DIN 125 M10

1 Anillo de Seguridad / Safety ring / Sicherheitsring DIN 471 Eje / Axle / Axe / Achse10

1 Pasador de aleta / Cotter pin / Goupille fendue / Splints DIN 94 - 2x20

TORNILLERIA DE LA OPCIO'N’DE DISPARO ELE’C TRICO/ SCREWS OF THE ELECTRIC TRIP OPTION/
VISSERIE DE L'OPTION DE DECLENCHEMENT ELECTRIQUE/ SCHRAUBEN DES OPTION ELEKTRISCHE
AUSLOSUNG

2 Arandela / Washer / Rondelle / Anneau du sUrete / Unterlegscheibe DIN 125 M4
2 Arandelas estriadas / Serrated lock washers / Rondelles denture extérieure / Facherscheiben DIN 6798 M4

2 Tornillos / Screws / Vises / Schauben DIN 933 8.8 M4x35 istorial de revisionas
2 Tuercas / Nuts / Ecrous / Nuts DIN 934 M4 Rev. Descripcion Fecha | Revisado |Aprobado
01 Se actualizan conjuntos (1) 29/02/2016 Pilar H J.Marco
02 Se afade segundo pivote 29/01/2018| J. Suelves | J. Marco
03 Afadida arandela DIN 9021 09/05/20191JA, Torrubial OLGA
CANTIDAD POR CONJUNTO i A —
Material: Dyﬂa I :[H
:Tizrmmado CONJUNTO: T25 UD XL
Tto. sup: Identificacion de los componentes/ Identification of
Sheg | 7055074 T e the components/ Identification des compsants/
Norma Bezeichnung de componenten

OBSERVACIONES: Escala.
MEDIDAS SIN TOLERANCIA SEGUN DIN-7168 GM | PLANO COD. N:DYN 37/4.C003.02

Fichero: Sustituye a | Sustituido por

1 | 2 | 3 4& 4 | 5 |



ZIN

R ﬁ, r ﬁ r i M DISTANCIA ENTRE GUIAS DE 600 A 2100 mm.
X S DISTANCE BETWEEN GUIDE RAILS: FROM 600 TO 2100 mm.
tg <« ———] 6,05 ) DISTANCE ENTRE GUIDES DE 600 A 2100 mm.
519 | - w0 FUHRUNGSABSTAND VON 600 BIS 2100 mm.
0 (< ;
S
224 ?; ,‘j CON PUNTO INTERMEDIO: DE 2100 A 2600 mm.
+H - WITH HALF WAY POINT: FROM 2100 TO 2600 mm.
f ® AVEC POINT INTERMEDIAIRE: DE 2100 A 2600 mm.
72,75+ 0,10 MIT MITTELPUNKT: VON 2100 BIS 2600 mm.
SIe
Up{ lll”l P
!
(o]
09 fllo @
/m\ o Medidas/Measurements/Abmessugen/Measures
© ‘ =) * | d(mm) | e(mm) | f(mm) | h(mm) | i(mm) k(mm) j(mm)
1| | m]
& @ : {} {} § 7 22 44,75 379 73,3 168,3 83,56 [125,3
- 8| 225 45,25 379 73,3 168,8 83 125,8
X=—= ! o 23 [ 4575 | 379 | 73.3 | 1693 | 825 (1263
(0] @ @ 10/ 23,5 46,25 379 73,3 169,8 82 126,8
°o 11| _24 | 4525 | 3775 | 71,8 | 1703 | 815 (1273
12| 24,5 45,75 377,5 71,8 170,8 81 127,8
13] 25 46,25 377,5 71,8 171,3 80,5 [128,3
A 7'1'_; 14| 25,5 44,75 375,5 69,8 171,8 80 128,8
AN " " © 15| 26 45,25 375,5 69,8 172,3 79,5 [129,3
= 16| 26,5 45,75 375,5 69,8 172,8 79 129,8
d 3 * Anchura de guia / Guide width / Guide de largeur / Fihrungsschienen
e
j
50,7 h [ k
CANTIDAD POR CONJUNTO: i L N —
n 0 ] Material: k:m_ DJ”B I :EH
Historial de revisiones . —
Rev. = I SDescrrtipcilc')r} . S _ Fecha Dibujado [Aprobado ::"m‘:m'”"’d"' CONJUNTO: ASG + T-25 v2 XL
01 | 2 e 195 XL (union bioemy | |29/02/2016| PilarH | J.Marco [Toww
por Soporte - (unica pieza) - . Focha Nombre Conjunto/Assembly/Baugruppe/Ensemble
02 | Incrementa el rango de distancia entre guias |{02/05/2017| PilarH | J. Marco [piuado [ 05/02/2015] _ P.Hernandez, ASG+T25v2 XL
Se anaden tolerancias a las cotas de las Norma
03 quias 27/11/2017|J. Suelves | J. Marco [ 5servACIONES: DYN 37/4.C005.04 Escala:
i mi MEDIDAS SIN TOLERANCIA SEGUN DIN-7168 GM | PLANO COD. N°: . .
04 | Segundoagdjero para amarre Imiaory 144/1/2018| . Sueives | J. Marco |- _ N
I . I . Fichero: I - Sustituye a: I ‘ Sustituido por.6




1X ASG + Timoneria

T25v2 premontado dcho/
Right preassembled T25v2
driving bar/

Barre de commande T25v2
pré-montée droite/
Ausldsegestange T25v2
vormontiert rechts

L] = HoJ

1X ASG + Timoneria
T25v2 premontado izdo/
Left preassembled T25v2
driving bar/

Barre de commande
T25v2 pré-montée
gauche/
Ausldsegestange T25v2
vormontiert links

1x Eje timoneria/
Driving bar axle/
Axe barre de commande/
Zugstangenachse

1X Amarre del limitador/

Governor linkage/
Arrimage du limiteur/
Begrenzerbefestigung

2X Ejes brazo/
Arm axles/
Axes bras/
Armachsen

(20)

Opcion de disparo eléctrico/

Electric trip option/

Option de déclenchement

electrique/

Option elektrische Ausldésung

1 X Contacto de disparo eléctrico/

Electric trip contact/
Contact de declenchement
électrique/

Elektrische Auslosekontakt

Opcidén de sistema tensor/
Tensor system option/
Option du systéme tendeur/
Option Spannsystem

CANTIDAD POR CONJUNTO:

JEATeCH

Material:

Peso terminado:

Tto. tco:

CONJUNTO: T25 v2 XL

Tto. sup:

Identificacion de los componentes/ Identification of

Nombre

Fecha
Dibujado |  06/02/2015

P.Hernandez

the components/ Identification des compsants/

Historial de revisiones

Norma

Bezeichnung de componenten

Escala:

. Descripcion Dibujado [Aprobado| OBSERVACIONES:
Roe1V Se actualizan gonjuntos (1) 29/F0e2(;2(a)1 6 PllaJr H JF.)MarCO MEDIDAS SIN TOLERANCIA SEGUN DIN-7168 GM [ PLANO COD- N-DYN 37/4.C006.02
02 Se anade Segundo inOte 29/01/2018]| J. Suelves | J. Marco Fichero: Sustituye a: ‘ Sustituido por:
3 4 5 |




1 . : . : v

4 ] 5

1 6

TORNILLERIA DE LA TIMONERIA T25 XL / SCREWS OF THE T25 XL DRIVING BAR / VISSERIE DE LA

BARRE DE COMMANDE T25 XL / SCHRAUBEN DES AUSLOSEGESTANGE T25 XL

2 Arandelas estriadas / Serrated lock washers / Rondelles denture extérieure / Facherscheiben DIN 6798 M8

2 Tornillos / Screws / Vises / Schauben DIN 912 8.8 M6x20
2 Tornillos / Screws / Vises / Schauben DIN 912 8.8 M8x25
2 Tornillos / Screws / Vises / Schauben DIN 933 8.8 M8x35

2 Arandela de seguridad / Safety washer / Rondelle de sécurité / Befestigungsschrauben DIN 463 M8
1 Arandela / Washer / Rondelle / Anneau du surete / Unterlegscheibe DIN 9021 M12

1 Arandela / Washer / Rondelle / Anneau du sUrete / Unterlegscheibe DIN 125 M10

1 Anillo de Seguridad / Safety ring / Sicherheitsring DIN 471 Eje / Axle / Axe / Achse10
1 Pasador de aleta / Cotter pin / Goupille fendue / Splints DIN 94 - 2x20

TORNILLERIA DE LA OPCION DE DISPARO ELECTRICO/ SCREWS OF THE ELECTRIC TRIP OPTION/

VISSERIE DE L'OPTION DE DECLENCHEMENT ELECTRIQUE/ SCHRAUBEN DES OPTION ELEKTRISCHE

AUSLOSUNG

2 Arandela / Washer / Rondelle / Anneau du sirete / Unterlegscheibe DIN 125 M4
2 Arandelas estriadas / Serrated lock washers / Rondelles denture extérieure / Facherscheiben DIN 6798 M4

2 Tornillos / Screws; / Vises / Schauben DIN 933 8.8 M4x35
2 Tuercas / Nuts / Ecrous / Nuts DIN 934 M4

Historial de revisiones

Rev. Descripcion Fecha Revisado [Aprobado
01 Se actualizan conjuntc_)s (1) 29/02/2016 Pilar H J.Marco
02 Se anade segundo pivote 29/01/2018{ J. Suelves | J. Marco
03 Afadida arandela DIN 9021 09/05/2019]| J.A. Torrubia | OLGA

CANTIDAD POR CONJUNTO L r N
Material: DJ”B I :[H

Peso terminado

— CONJUNTO: T25 v2 XL

Tto. sup: Identificacion de los componentes/ Identification

ST ngggf;‘zo 15 P_H’;‘r’;”;’r:%ez of thg components/ Identification des compsants/
Norma Bezeichnung de componenten

OBSERVACIONES:
MEDIDAS SIN TOLERANCIA SEGUN DIN-7168 GM

Escala:

PLANO cob. NeDYN 37/4.C006.02

Fichero:

Sustituye a | Sustituido por

| 5




2 | 3

€7 4 |

5 | 6

1X ASG UD+ Timoneria T25UD XL
premontado dcho/

1 X Placa base dcha T-3/
Right mounting plate T-3/

Opcion/ Option:

Right preassembled T25UD XL Plaque base droite T-3 (28) A
driving bar/ Grundplatte rechts T-3
Barre de commande T25UD XL
pré-montée droite/ 1X Contacto de disparo eléctrico/
Auslosegestange T25UD XL Electric trip contact/
vormontiert rechts (\ 1X casquillo nylon T-3/ (’.,‘lon:a.ct d/e declenchement [~
@ Nylon Tip T-3/ cectnque )
: Elektrische Auslosekontakt
1X ASG UD + Timoneria T25UD XL { Douilles Nylon T-3/
premontado izdo/ Nylonbuchsen T-3 Opcion/ Option:
Left preassembled T25UD XL 5
driving bar/
Barre de commande T25UD XL 1 _
pré_montée gauche/ 1 ) X Sistema tensor/
Auslésegestange T25UD XL X Buje apoyo T-3/ Tensor system/
vormontiert links Support Cap T-3/ Systéme tendeur/
Bagues appui T-3/ Spannsystem <
2X EjeS braZO/ Stutznaben T'3
Arm axles/
Axes bras/
(3) Armachsen 2X Adaptador T-31/ 1X Amarre del limitador/ )
Adapter T-31/ Artimage du Imieur
1X Eie brazo/ Adaptateur T-31/ (8) ;
J Adapter T-31 Begrenzerbefestigung
Arm axles
3) Axe bras/ Historial de revisiones
Armachsen Rev. Descripcion Fecha Aprobado |_
1 Se anade segundo pivote 29/01/2018 | J. Suelves
Material: . DH”B I :[H
1x Ej? tlimonerl'a/ e CONJUNTO: T25 UD XL ENTREGUIA 2100 A 2600
Dr|V|ng bar axle/ Tto. sup: Identificacion de los componentes/ Identification of
Axe barre de commande/ Shuade | Ti085077 Pt the components/ Identification des compsants/ D
(4) Zugstangenachse Norma Bezeichnung de componenten —
NIOEB;Ei\SH-\S(I:Il\IO'INgI_SFiRANCIA SEGUN DIN-7168 GM | PLANO coD. N:DYN 37/4.C007.01 ‘
. I = Fichero: - Sustituye a: I ‘ Sustituido por:

ZP 7 T



1 1 2 1 3 ﬂ7 4 1 5 1 6

TORNILLERIA DE LA TIMONERIA T25 UD XL / SCREWS OF THE T25 UD XL DRIVING BAR / VISSERIE DE LA BARRE

DE COMMANDE T25 UD XL / SCHRAUBEN DES AUSLOSEGESTANGE T25 UD XL: 2100-2600

2 Arandelas estriadas / Serrated lock washers / Rondelles denture extérieure / Facherscheiben DIN 6798 M8
2 Tornillos / Screws / Vises / Schrauben DIN 912 8.8 M6x20

2 Tornillos / Screws / Vises / Schrauben DIN 912 8.8 M8x25

2 Tornillos / Screws / Vises / Schrauben DIN 933 8.8 M8x35

2 Arandela de seguridad / Safety washer / Rondelle de sécurité / Befestigungsschrauben DIN 463 M8

1 Arandela / Washer / Rondelle / Unterlegscheiben DIN 9021 M12

1 Arandela / Washer / Rondelle / Unterlegscheiben DIN 125 M10

1 Anillo de Seguridad / Safety ring / Sicherheitsring DIN 471 Eje / Axle / Axe / Achse10

1 Pasador de aleta / Cotter pin / Goupille fendue / Splints DIN 94 - 2x20

1 Anillo de Seguridad / Safety ring / Sicherheitsring DIN 471 Eje / Axle / Axe / Achse 30

1 Tornillo / Screw / Vis / Schraube DIN 912 8.8 M8x16

3 Arandelas / Washers / Rondelles / Unterlegscheiben DIN 125 M8

3 Arandelas estriadas / Serrated lock washers / Rondelles denture extérieure / Facherscheiben DIN 6798 M8
3 Tuercas / Nuts / Ecrous / Nuts DIN 934 M8

3 Tornillos / Screws / Vises / Schrauben DIN 912 8.8 M8x25

4 Tornillos / Screws / Vises / Schrauben DIN 912 8.8 M10x25

8 Arandelas / Washers / Rondelles / Unterlegscheiben DIN 125 M10

4 Tuercas / Nuts / Ecrous / Nuts DIN 934 M10

2 Tornillos / Screws / Vises / Schrauben DIN 912 8.8 M6x20

TORNILLERIA DELA OPCION DE DISPARO ELECTRICO/ SCREWS OF THE ELECTRIC TRIP OPTION/ VISSERIE DE
L'OPTION DE DECLENCHEMENT ELECTRIQUE/ SCHRAUBEN DES OPTION ELEKTRISCHE AUSLOSUNG

2 Arandelas / Washers / Rondelles / Unterlegscheiben DIN 125 M4
2 Arandelas estriadas / Serrated lock washers / Rondelles denture extérieure / Facherscheiben DIN 6798 M4

2 Tornillos / Screws / Vises / Schauben DIN 933 8.8 M4x35 TS POR CONIONTo

> r DL A
2 Tuercas / Nuts / Ecrous / Nuts DIN 934 M4 w JENATeCH
e CONJUNTO:T25 UD XL ENTREGUIA 2100 A 2600
Tto. sup: Identificacion de los componentes/ Identification
ST 1{;’(%720 7 gi‘l’;”rbﬁ of the components/ Identification des compsants/
Norjma Bezeichnung de componenten
Historial de revisiones OBSERVACIONES. Escala:
Rev. Descripcion Fecha Dibujado  |Aprobado|MEDIDAS SIN TOLERANCIA SEGUN DIN-7168 GM | PLANO coD. N:DYN 37/4.C007.01
01 Afadida arandela DIN 9021 | 09/05/2019 |J.A. Torrubia | OLGA [Fichero: Sustituye a [ Sustituido por
1 | 2 6

| 3 4& 4 | 5 |






